SECTION 8 - BID FORM PRICING

All quantities listed are estimates of anticipated yearly upfitting needs.

NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE
SECT FLAT	ION 1 RATE CHARGES FOR REMOVAL AND INSTAL	LATION	I OF VEI	HICLE EQUIPMENT	
	ED POLICE INTERCEPTOR SQUAD CARS				
1	New Equipment Installation	EA	30	\$ 2995	\$89850.00
2	Equipment Removal	EA	30	^{\$} 750	^{\$} 22500.00
3	Equipment Re-Installation	EA	30	^{\$} 2995	\$89850.00
4	Concealed Hatch Installation	EA	30	^{\$} 95	^{\$} 2850.00
5	Concealed Hatch Removal	EA	30	^{\$} 95	\$2850.00
6	Lightbar Installation	EA	30	^{\$} 350	^{\$} 10500.00
7	Lightbar Removal	EA	30	^{\$} 200	\$6000.00
8	Siren Installation	EA	30	^{\$} 250	^{\$} 7500.00
9	Grill Light Installation	EA	30	^{\$} 130	\$ 3900.00
10	Rear Seat OR Cage Installation	EA	30	^{\$} 350	^{\$} 10500.00
11	Rear Seat Restraints Installation	EA	30	^{\$} N/A	^{\$} N/A
MARK	ED TAHOE SUPERVISOR SQUAD CARS				
12	New Equipment Installation	EA	10	^{\$} 2295	\$22950.00
13	Equipment Removal	EA	10	^{\$} 750	\$7500.00
14	Equipment Re-Installation	EA	10	^{\$} 2295	\$22950.00
15	Concealed Hatch Installation	EA	10	^{\$} 95	^{\$} 950.00
16	Concealed Hatch Removal	EA	10	^{\$} 95	^{\$} 950.00
17	Lightbar Installation	EA	10	^{\$} 350	\$ 3500.00
18	Lightbar Removal	EA	10	^{\$} 200	\$2000.00
19	Siren Installation	EA	10	^{\$} 250	^{\$} 2500.00
20	Grill Light Installation	EA	10	^{\$} 130	^{\$} 1300.00
21	Rear Seat Cage Installation	EA	10	^{\$} 350	\$3500.00

NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE
22	Rear Seat Restraints Installation	EA	10	^{\$} N/A	^{\$} N/A
INVES	STIGATOR VEHICLES				
23	New Equipment Installation	EA	5	^{\$} 1950	^{\$} 9750.00
24	Equipment Removal	EA	5	\$ 500	\$ 2500.00
25	Equipment Re-Installation	EA	5	^{\$} 1950	^{\$} 9750.00
MARK	ED SUPERVISOR INTERCEPTOR VEHICLES				
26	New Equipment Installation	EA	8	^{\$} 1950	^{\$} 15600.00
27	Equipment Removal	EA	8	^{\$} 500	\$4000
28	Equipment Re-Installation	EA	8	^{\$} 1950	^{\$} 15600.00
K-9 UI	NIT VEHICLES				
29	New Equipment Installation	EA	7	^{\$} 3200	\$22400.00
30	Equipment Removal	EA	7	^{\$} 1195	\$8365.00
31	Equipment Re-Installation	EA	7	^{\$} 3200	\$22400.00
PRISC	ONER TRANSPORT AND SWAP VEHICLES				
32	New Equipment Installation	EA	3	\$ 6500	^{\$} 19500.00
33	Equipment Removal	EA	3	^{\$} 2500	^{\$} 7500.00
34	Equipment Re-Installation	EA	3	^{\$} 6500	^{\$} 19500.00
UNMA	RKED/ADMIN VEHICLES				
35	New Equipment Installation	EA	5	^{\$} 1950	^{\$} 9750.00
36	Equipment Removal	EA	5	^{\$} 650	\$ 3250.00
37	Equipment Re-Installation	EA	5	^{\$} 1950	\$9750.00
				GRAND TOTAL	\$ 494015.00

SECTION 2 EQUIPMENT REPAIR – "AS NEEDED" TIME AND MATERIAL REPAIR SERVICE					
LABOR	RATE				
NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE
1	Normal Work Hours 8:00 A.M 4:00 P.M.	HR	40	^{\$} 130	^{\$} 5200.00
2	After Normal Work Hours	HR	40	^{\$} 350	^{\$} 14000.00
NO.	ITEM	ESTIM EXPEN	IATED DITURE	% OF ADJUSTMENT (-, +)	EXTENDED PRICE
MARK-U	JP / DISCOUNT ON PARTS				
PARTS MARKUP Parts Markup from Contractors Cost: \$5000.00 X 20% of Markup = (The Contractor must provide OEM/Part source invoices). Example: \$5,000.00 x 10% Markup = \$5,500.00 PARTS MARKUP Parts Markup \$10,000.00 -10 \$9000.00					
	GRAND TOTAL \$ 28200.00				

SECTION 3 - PART AND INSTALLATION PRICING

If listed parts are not available due to limited supply by the manufacturer a substitution of another make/model can be made with written approval from the County.

MARKED POLICE INTERCEPTOR SQUAD CARS

NO.	ITEM	PART COST	INSTALLATION COST
1	Ignition Override System	\$ 299	\$ 260
2	Power Distribution Unit panel with all fuses clearly marked in typed decal with no hand writing. Power Distribution Unit and siren control box should be easily accessible for service, but not located in the console.	Type text here \$ 450	Type text here \$ 130.00
3	12V Timer for all vehicle computers, chargers, radios, lights, sirens and any other aftermarket equipment with built in 12V Voltage Monitoring 120Amp Capacity	\$ 120	\$ 130.00
4	STI-CO Flexi-Whip Antenna(s)	\$ 75	\$ 75.00
5	¾" NMP Brass Hole Mont Antenna Cable	\$ 55	\$ 75.00
6	Havis Console for 2020 Interceptor Utility (C-VS-1012-INUT) with Armrest (C-ARM-103) with Self Adjusting Cup Holder (CUP2-1001)	\$750	\$ 260
7	Havis Floor Post Premium Computer Mount PKG-PSM-3006	\$749	\$ 130
8	Federal Signal Pathfinder PF200R Siren and Light Controller	\$ 1050	\$ 390
9	Federal Signal 100W Siren Speaker & Bracket	\$ 249	\$ 130
10	Federal Signal Integrity 51" Complete Dual Color Lightbar 360 Red LED with White front flood and Blue Arrow.	\$ 1800	\$ 260
11	Sound Off Signal Solid State Plug In Headlight Flasher	\$ 99	\$ 130
12	Sound Off Signal Solid State Plug In Tail Flasher	\$ 149	\$ 130
13	Federal Signal PBX Push Bumper	\$ 550	\$ 390
14	Pair of Federal Signal Micro pulse Push bumper or grille mounted lights with brackets	\$ 300	\$ 130
15	Federal Signal 8 head rear warning bar	\$ 399	\$ 130
16	Pair of Federal Signal Micro pulse Surface mount light mounted on each side of Push Bumper	\$ 300	\$ 130
17	Pair of Federal Signal Dual Color Cargo Window Lights	\$ 300	\$ 130

NO.	ITEM	PART COST	INSTALLATION COST
18	ProGard Center Sliding Poly Window Full Prisoner Partition with recessed panel and lower extension panels.	\$ 1100	\$ 390
19	Santa Cruz Single Vertical Rifle Lock mounted in recessed panel on front partition	\$ 350	\$ 130
20	Maglite MagCharger LED Rechargeable Flashlight mounted in recessed panel on front partition	\$ 159	\$ 60
21	Gun lock timer	\$ NA	\$
22	Pro-Gard Pair of Steel Window Bars in prisoner compartment (for use with O.E.M. door panels only)	\$ 310	\$ 60
23	Pro-Gard Rear Polymer Transport Seat w/ 7 Ga. Steel Screen Window Cargo Barrier and Outboard Seat Belts	\$ 2100	\$ 390
24	Pro-Gard Set of Three rear cargo and rear side window guards	\$ 492	\$ 390
25	Ford Interceptor Utility Subframe with Electronics Panel Mount	\$ 450	\$ 130
26	Mobile VHF Two-Way Radio	\$ 799	\$ 260
27	Customer Supplied tablet/computer and keyboard	\$ N/A	\$ 75.00
28	Zebra ZQ500 Series ZQ520	\$ 899	\$ 260
29	Zebra Power adapter	\$ 205	\$ 60
30	Zebra USB cable - 5 pin Micro-USB Type B (P) - to - USB (M) - 6 ft for ZQ500 Series	\$35	\$ 60
32	3M Traffic Preemption Emitter	\$ 350	\$ 130
33	Customer provided In Car Camera System	\$ N/A	\$ 1040
K9 UN	NITS		
34	Havis 2020 Interceptor Utility Black K9 Kennel	\$ 4968.00	\$ 1000.00
35	Havis Window guard kit	\$108	\$ ₆₀
36	ACE K9 Heat Alarm Pro	\$ 1000	\$ 350
37	ACE K9 Engine Stall Sensor	\$ 145	\$ 150
38	ACE K9 10" Fan Kit	\$ 240	\$ 130
39	ACE K9 Carbon Monoxide Alarm with interface module	\$ N/A	\$ 60

NO.	ITEM	PART COST	INSTALLATION COST
40	ACE K9 Remote pager system	\$ 375	\$ 100
MARK	ED SUPERVISOR INTERCEPTOR VEHICLES		
41	Mobile UHF radio	\$ Customer Supplied	\$ 100
42	Mobile VHF Radio	\$ Customer Supplied	\$ 100
43	800mhz/VHF/UHF Antennas	\$ 105	\$ 60
44	Pro-Gard Steel Cargo Barrier with filler panels	\$ 603	\$ 390
45	Pro-Gard Set of Three rear cargo and rear side window guards	\$ 492	\$ 390
INVES	STIGATOR VEHICLES		
46	Power Distribution Unit panel with all fuses clearly marked in typed decal with no hand writing. Power Distribution Unit and siren control box should be easily accessible for service, but not located in the console.	\$ 450	\$ 130
47	Federal Signal Pathfinder PF200H Siren and Light Controller	\$ 1050	\$ 390
48	Federal Signal 100W Siren Speaker & Bracket	\$ 249	\$ 130
49	Sound Off Signal Solid State Headlight Flasher	\$ 99	\$ 130
50	Sound Off Signal Solid State Taillight Flasher	\$ 149	\$130
51	One pair of Federal Signal MPS600U 1R 1B grille mounted lights with brackets	\$ 300	\$ 130
52	Two Federal Signal XStream Dual Head Tri Color Warning Lights mounted on front visor	\$ 598	\$ 130
53	Two Federal Signal XStream Dual Head Tri Color Warning Lights mounted on rear deck	\$ 598	\$ 130
54	Two Federal Signal XStream Single Head Tri Color Warning Lights mounted for side warning	\$ 499	\$ 130
VARIO	DUS PARTS		
55	Accessories Outlet (3)	\$ 42	\$ 60.00
56	Antenna Couplers	\$ 15	\$ 60.00
57	Antenna (on glass)	\$ 100	\$ 100.00
58	Antenna (only)	\$ 75	\$ 60.00
59	Antenna (dual band disguise)	\$ 500	\$ 250.00

NO.	ITEM	PART COST	INSTALLATION COST
60	Antenna (single band disguise)	^{\$} 500	^{\$} 175
61	Arrowstick	^{\$} 495	^{\$} 100
62	Arrowstick (split)	\$ N/A	\$ 130
63	Beacons (interior)	\$ N/A	\$ 130
64	Canine Container Havis K9 Kennel with Havis Window Guard Kit K9-F28-1-B	\$ 4900.00	\$ 1000
65	Canine Monitoring System (Must include all parts) ACE K9 Heat Alarm Pro ACE K9 Engine Stall Sensor ACE K9 10" Fan Kit ACE K9 Carbon Monoxide Alarm with interface module ACE K9 Remote pager system	\$ 1760	\$ 790
66	Circuit Breakers	_{\$} 75	\$ 60
67	Havis 2020 Interceptor Utility Console C-VS-1012-INUT	\$ 602	\$ 260
68	Deck Lights	\$ 300	\$ 260
69	Diodes	\$ 20	\$30
70	Maglite MagCharger Rechargeable LED Flashlight System	\$ 159	\$ 60
71	Federal Signal Micro Pulse Ultra 600 Series Pathfinder Compatible Steady Burn Grille Lights	\$ 300	\$ 130
72	Sound Off Signal Solid State Headlight Flasher	\$ 99	\$ 130
73	Ignition Overrides	\$ 299	\$ 260
74	LED Lights	\$ 300	\$ 130
75	Light Bar (mini)	\$ 299	\$ 390
76	Map Light System	\$ 149	\$ 130
77	Mic Clip	\$ 14	\$ 30
78	Power Distribution Unit panel with all fuses clearly marked in typed decal with no hand writing	\$ 450	\$ 130
79	Relays	\$ 15	\$ 30
80	Pro-Gard Space Saver Center Sliding Poly Window Full Prisoner Partition with recessed panel and lower extension panels.	\$ 1100	\$ 390
81	Santa Cruz Single Adjustable Rifle Rack	\$ 350	\$ 130

NO.	ITEM	PART COST	INSTALLATION COST
82	Santa Cruz Universal Timer	\$ NA	\$
83	Federal Signal Pathfinder PF200R Siren and Light Controller	\$ 1050	\$ 390
84	Federal Signal Pathfinder PF200H Siren and Light Controller	\$ 1050	\$ 390
85	Federal Signal ES100C & ESB-U	\$ 249	\$ 130
86	Spotlight	\$ 650	\$ 260
87	Spotlight Bulb	\$ 159	\$ 60
88	Spotlight Handle	\$ 85	\$ 60
89	LED (interior dash) - LED Preemption Unit	\$ 1750	\$ 130
90	LED (interior side) - Federal Signal XStream Dual Head Tri Color Warning Lights XSM2- BRW	\$ 299	\$ 130
91	LED (interior side halogen light) - Federal Signal XStream Dual Head Tri Color Warning Lights XSM2-BRW	\$ 299	\$ 130
92	LED (mirror) - Federal Signal Micro Pulse Wide Series Pathfinder Compatible Steady Burn Mirror Lights	\$ 185	\$ 130
94	Switchbox	\$ 299	\$ 130
95	Sound Off Signal Solid State Tail flasher	\$ 149	\$ 130
96	Terminal Block	\$ 10	\$ 25
97	Terminals	\$ N/C	\$ N/C
98	Wire Loom	\$ N/C	\$ N/C
99	Federal Signal Integrity 51" Complete Dual Color Lightbar 360 degrees of Red LEDs with White full front flood and dual color Blue Arrow rear	\$ 1800	\$ 260
100	Pro-Gard Set of Three rear cargo and rear side window guards	\$ 492	\$ 390
101	VHF, 128 Channel, 50 WATT Mobile Radio with Alphanumeric display	\$ 799	\$ 260
102	Vertex super LED split Red/Blue	\$ 142	\$ 130
103	Vertex White	\$ 142	\$ 130
104	Momentary Switch	\$ 19	\$ 30
105	Red/White LED - Federal Signal MPS620UX-RW	\$ 150	\$ 60
106	Blue/White LED - Federal Signal MPS620UX-RW	\$ 150	\$ 60

NO.	ITEM	PART COST	INSTALLATION COST
107	Havis Floor Post Premium Computer Mount PKG-PSM-3006	\$ 749	\$ 130
108	Install Material	\$ N/C	\$
109	Switch 7-Control w/Slide switch	\$ 299	\$ 130
110	Power Cable	\$ Not enough Info	\$
111	10 Terminal Cinch Block	\$15	\$ 25
112	4 Terminal Strip	\$ 15	\$ 25
113	Universal Speaker with Bracket	\$ 249	\$ 130
114	Waterproof ATC Fuse Holder	\$ 15	\$ 30
115	Dual Head Led Light head Red/Blue 7"	\$ 299	\$ 60
116	Eight Light head Led Light Stick Red/Blue 28" Length - Federal Signal CN Signal Master CNSM8RS-RAB2	\$ 475	\$ 130
117	Sliding Window Partition	\$ 1100	\$ 390
118	Pro-Gard Rear Polymer Transport Seat w/ 7 Ga. Steel Screen Window Cargo Barrier and Outboard Seat Belts	\$ 2100	\$ 390
119	Pro-Gard Pair of Steel Window Bars in prisoner compartment (for use with O.E.M. door panels only)	\$ 310	\$ 60
120	Vehicular Charger	\$ 499	\$ 130
121	VHF, 50 Watt Narrowband Capable Ispern Radio System	\$ 799	\$ 260
122	Havis Floor Post Premium Computer Mount PKG-PSM-3006	\$ 749	\$ 130
123	1/4 Wave VHF Antenna with Mount	\$ 130	\$ 130
124	806-866 QW8063 MBDN - Complete Antenna Kit	\$ 55	\$ 60
125	High Current Breakers 100 AMPS	\$ 75	\$ 60
126	Federal Signal PA300 100W Siren	\$ 350	\$ 130
127	Power Cable for Utility Interceptor	\$ Not enough info	\$
128	Ignition Override for FORD Sedan & SUV Interceptors	\$ 299	\$ 260

SECTION 9 - PROPOSAL FORM UPFIT AND MAINTENANCE OF EMERGENCY EQUIPMENT & ACCESSORIES 23-055-SHF

(PLEASE TYPE OR PRINT THE FOLLOWING INFORMATION)

Full Name of Offeror	Public Safety Direct, Inc		
Main Business Address	4614 w 137th St		
City, State, Zip Code	Crestwood, IL 60418		
Telephone Number	708.389.1896		
Fax Number			
Proposal Contact Person	Mark Kozeluh		
Email Address	mark@publicsafetydirect.com		
follows:	a Member of the Partnership he Offeror and that the members of	·	<u> </u>
(President or Par	rtner)	(Vice-P	resident or Partner)
(Secretary or Par	rtner)	(Treasu	urer or Partner)
named herein; that this Propo examined the proposed forms which are on file in the office Illinois 60187, and all other de exhibits, including Addenda No	eclares that the only person or parosal is made without collusion with as of agreement and the contract set of the Procurement Manager, Dulocuments referred to or mentioned o, and, and	any other person, firm or specifications for the above Page Center, 421 North Claim the contract documents issued thereto;	corporation; that he has fully e designated purchase, all o County Farm Road, Wheaton s, specifications and attached
T	and the second second of the second	the annual and the control of the	

Further, the undersigned proposes and agrees, if this Proposal is accepted, to provide all necessary machinery, tools, apparatus and other means of construction, including transportation services necessary to furnish all the materials and equipment specified or referred to in the contract documents in the manner and time therein prescribed.

Further, the undersigned certifies and warrants that he is duly authorized to execute this certification/affidavit on behalf of the Offeror and in accordance with the Partnership Agreement or by-laws of the Corporation, and the laws of the State of Illinois and that this Certification is binding upon the Offeror and is true and accurate.

Further, the undersigned certifies that the Offeror is not barred from proposing on this contract as a result of a violation of either 720 Illinois Compiled Statutes 5/33 E-3 or 5/33E-4, proposal rigging or proposal-rotating or as a result of a violation of 820 ILCS 130/1 et seq., the Illinois Prevailing Wage Act.

The undersigned certifies that he has examined and carefully prepared this proposal and has checked the same in detail before submitting this proposal, and that the statements contained herein are true and correct.

If a Corporation, the undersigned further certifies that the recitals and resolutions attached hereto and made a part hereof were properly adopted by the Board of Directors of the Corporation at a meeting of said Board of Directors duly called and held and have not been repealed, nor modified and that the same remain in full force and effect. (Offeror may be requested to provide a copy of the corporate resolution granting the individual executing the contract documents authority

4	\
to do so.)

Further, the offeror certifies that he has provided services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the offeror, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the cost schedule.

PROPOSAL AWARD CRITERIA

This proposal will be awarded to the most responsive, responsible vendor meeting specifications based upon the highest score compiled during evaluation of the proposals outlined in the selection process.

The Contractor agrees to provide the service described above and in the contract specifications under the conditions outlined in attached documents for the amount stated.

X(Signature and Title)		CORPORATE SEAL (If available)
PROPOSAL I	MUST BE SIGNED FO	R CONSIDERATION
Subscribed and sworn to before me this	day of	AD, 2023
My Commission Expires:		

(Notary Public)